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AC Equivalent circuit

The fixed-bias configuration of JFET transistor have an 2OV
operating point defined by: V59 =-2 V and Rp % 2kQ .
Ipg = 5.625 mA, with Igs = 10 mAand , = -8 V. . S
The network is drawn as the following Fig. i S -I: f’:};:ﬁ; oA
with an applied signal I/} . ’ ?fa IMQ ¢S --Z— v,
| _:_—ZV
_ n _

The value of y, . is provided as 40 mS
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AC Equivalent circuit
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AC Equivalent circuit

. Ipss . 2(10mA)

a. Imo = Vol 8V =2.5mS
m = Gmol1-2)= 2.5mS(1- =)= 1.88mS
11
rpy=—"—""=""—"-= 25k()
Yos 40uS

7, =R, = 1MQ

Z, = Rp||rgy = 2kQ| |25k

A, = —gm(Rpllrg) = —(1.88mS)(1.85kQ) = —3.48
A, = —gmRp= —(1.88mS)(2kQ) = —3.76
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As demonstrated in part (f), a ratio of 25 k():2 k() = 12.5:1 between r; and R results in a difference of
8% in the solution.
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